e DIER + =K

el

it

A

RDEER

FPat

gt

MR

QEball|

=A | 1 |&&Es —a = 1 [BEdma — 1
=A| 2 |EEME| —1 = 2 |EYIEE| 2
—=A| 3 |FsEEW| —1 — 3 |MREEE | —2
—A | 4 |#E#EE| =2 = 4 |=EE =3
—A| 5 |EEEl =2 = 5 |PAElEE —3
=A| 6 |E=EH| =3 —A| 6 |mrEFE| —4
= T |5EE#| —3 = 7T | EEE| —4
= 3 |EWF|l —4 = & |BEthEZE| 5
—A| 9 |#FEEl —4 = O |EixfE| —5
= 10 |&&lE| =5 =A | 10 EFE| —6
=A| 11 |MES®| =5 =A | 11 RO —6
=A | 12 |[EMEEL —6 = 12 |#EfES — 7
—A | 13 [ZEBEE| —6 = 13 |#AERE] =7
= 14 |&=mais| =7 — 14
= 15 |[BEEZE| —7 =A | 15
—A| 16 |S@EH|l —7 — 16

17 17

18 18

il s RN




dEDIER * =K

Hr | It BAEH ETIH
—B 1 [EF=K| =1
=B | 2 [ZEEE| =1
=B | 3 |&fE| —1
—B| 4 |B&E| =2
—B| 5 |[jumE|l =2
—B| 6 [MEFEl =2
=B | 7 |HEZE| =3
—=B 8 |#ifER| —3
—B| 9 |&uEl —4
—B| 10 |mE—®| —4
= 11 |MHF| =5
== 12 |BE7ERE| =5
= 13 |EEE| —6
= 14 |MEE| —6
= 15 |#HEKR| =7
=B | 16 |[#HEWE| =7

i

18

Hal | P9t pAEH FDIR
=B | 1 [|#E&E —1
= 2 |Egte| =2
= 3 |BEShE| — 2
= 4 |FRE —3
—B | 5 |EfEH =3
= 6 |FFtEE| —4
— T |HEckEy| = 4
= 8 || —5
= 9 |HHBE| =5
= 10 |+l —6
= 11 [BE=EE| —6
—B | 12 |&¥HE —7
= 13 |[MRIER —7

14

15

16

17

18




drEDIER © =48R

BRI | 9 BAEH FTR
= 1 |#ERE 1
= 2 |FEEME| 1
=3 B 1
—C | 4 |#AERE —2
=C| 5 |zmEsE|l =2
=C| 6 |#EzxH| =2
=C| 7 |#&#&Z| =3
—C| 8 |BEFEl —3
=0 9 [MEXR| =3
—=C| 10 |EEFz| —4
—=C| 11 |=Ewg —4
—C | 12 |2 — 5
=C| 13 |BEZE| =5
=C| 14 |EZBE| =6
=C | 15 |##HE| —6
=C | 16 |#®EEa|l —7
=C| 17 |BERK| =7
18

A | FPof aEdH FETHR
= 1 |5BREHE — 1
=L | 2 |[#rE| =2
— 3 |FESET| —2
=C | 4 BT —3
— S |BmBE| —4
= 6 |RPE| —4
=C | 7 |(Blmeam| =5
= & |FkkE| =5
= 9O |fISEF| =6
= 10 £FE| —6
=C | 11 |8FC83E =7
= 12 |2l —7

13

14

15

16

17

18




YRETTAR © =48R

A1 | et | BAA| IR
=D| 1 |EEFE|l =1
=D| 2 |ERE| =1
=D| 3 |EXRE| =1
=D| 4 |BHFE| =2
=D | 5 |[ZHEME| —2
=D| 6 |#HEE| =3
=D | 7 |FEE#H| =3
=D | & |ZHE=E| =3
=D| 9 |HukEE| —4
=D | 10 |H[fEsh| —4
=D | 11 |#fgsE| —4
=D | 12 |FEE®&E| =5
=D | 13 |EBE| =5
=D | 14 |&=&l| —6
=D | 15 |=WE|l =6
=D | 16 |EHE| =7
=D| 17 |B&Mm| =7

—
o0

Hpl | FPak Al R
= 1 |ESH 1
=D| 2 |B=E/H —1
= 3 |EEM 2
= 4 |EFFE =2
=D | 5 |5 =3
= 6 |FETARH —4
= T [FFEFH =5
= 8 |FEEH =5
=D | 9 |#fEks] =6
— 10 |BFREEH —6
= 11 |BE —7
=D | 12 |#(BAE] — 7

13

14

15

16

17

18




SmEDLER © —F 4k

R | Y B IR
—E| 1 [BEZE —1
—E| 2 [BEE®E —1
—F 3 |EEEsE —2
=E| 4 EFBEH =2
=E| 5 BFEE| =3
—E| 6 [@#EMm =3
= 7 [EFiEsE —4
—E | 8 [@#EF —4
=] 9 [HEE —4
—E | 10 |#fEHT —5
= 11 |BIREE =5
= 12 |BHEEy =5
—E | 13 [E&EH —¢
= 14 |2%REH —6
— 15 | FfEfg —7
= 16 |[PRFERg| — 7
17

Al | R AN R
= 1 |#kiEdm — 1
=) 2 |EREY 1
— 3 |MEHE Z2
= 4 RS 3
—E| 5 |=A% —3
= 6 |EfprE —4
—E | 7 [IPm —4
= § |ME= —5
—E| 9 |E=EE =5
= 10 |E5=0g —6
= 11 [5REBZN —6
=E | 12 |£8H =7

13

14

15

16

17

18




GmEDIER : =1F4R

AR | o s

= BREME —1

Sl FEEE — 1

aps —2

GRmiee| —2

1

2

3

4
—F | 5 |B#R =3
= 6 |[BRFAE] —3
= T | EFE =3
= 8 [FE{PtH —4
= 9 |(BimlE —4
= 10 |MEBF —s
e 11 |PRiEzE — 5
= 12 |BREE =5
= 13 [Z2HEE] —6
= 14 [PREMN —6
= 15 |ZEER —6

1]
S)

=AME —7

= 17 Bkl —7

HA | FoE A EDISR
= 1 |EPHECy — 1
= 2 TEGER —1
. 3 SR —2
= 4 1F5H =2
= 5 |#ftéstd — 3
= 6 [ZEEF —3
— T |ERE —4
= 8 |HHHE| —4
— O |FEEE 5
=F 1 10 |BEE/E —6
= 11 |Cmigy —7
= 12 |EfE% —7

13

14

15

16

17

18




dmEDIER * =K

SHR | P9t BAEH HHTAR HA | ot e FEPTSR
=G| 1 mEE i = ] |EEEe
=G| 2 |EfmE —1 | = 2 |HEhnd 1
= 3 |EEH =2 =G| 3 |FAB& —2
=G| 4 [EfEE —2 = 4 |FrSHEg —2
= 5 |EE& —3 = 5 |BEIEdR — 3
= 6 [HEZK =3 =G| 6 |EAR =3
=G| 7 |FHE —4 = 7 MREE —4
= 8 [EFfPH] —4 = 8 |[MI5HEE —4
= 9 |#EH —s =G| 9 [MFHH =5
=G| 10 |ZBEFiE —s = 10 |=0]%] —6
=G| 11 |[ZEIN —6 = 11 |fENZE —6
= 12 |BRESR —6 = 12 [BEZH —7
= 13 |[=EE —6 =G| 13 |EB¥ —7
= 14 |FFz8T] —7 14
=G| 15 |[EiEl —7 15
= 16 |BRESHEH —7 16

17 17

18 18




